HSSC Clerk, 22 Sep 2019, Morning

5/2019 (1) (M1) :

1. A group (G, «) has 10 elements. The
minimum number of elements of G which
are their own inverse is

(A) 2 B) 1
© 0 D) 9

2. Sonipat city is famous for which industry ?

(A) Car (B) Cotton clothes
(C) Cement (D) Bicycle
3. In SQL, functions are used

to implement calculation based upon a
particular column.

(A) ORDERBY (B) IN

(C) Aggregate (D) BETWEEN

4. Which one of the following is not in the
category of communication channels ?
(A) broad band
(B) narrow band
(C) light band
(D) voice band

5. Which of the following city bagged the
tile *““India’s cleanest city’’ by Swachh
Survekshan — 2019 ?

(A) Patna
(B) Indore
(C) . Kochi
(D) None of the above

6. The sum of all integers between 200 and
800, which is divisible by 9, is
(A) 32976
(B) 32967
(C) 32796
(D) 32769

7. Which President of USA said, ‘Plant more
wheat, wheat will win the war’ ?

(A) George Washington
(B) Jefferson
(C) Roosevelt

( ) Wiﬁsml

K

o2

wnmgenent UL

1. @& (G, i 107w & | G T A =

i < w3 TR
A) 2 By 4
© 0 B
’ ey o e i 6 e IR R 7
© fa= (D) HEFA
3 Frdry i T SETRE AT
Y i aa R ST
B &

(A) ORDER BY (B) IN |
(C) Aggregate (D) BETWEEN

4. Frefafead 1 @ A o G390 a3

FAdi g ?

(A) e
(B) Gl e
(C) NI e
(D) afAde

5. Frafefaa # & frw T Y = wdam

2019 F1 MG % wEQy 1%
Tegams wifdrer fomm 2 e
(A) gr

(B) %R

(C) =ifey

(D) 30w # & s ey
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8.

9.

10.

HoL—e

12,

13.

IMBEX 2018 — 19, bilateral army exercise
between which of the following countries ?

(A) India and Madagascar
(B) India and Maldives
(C) India and Myanmar
(D) None of the above

The Haryana Lokayukta Act came into
force in the year

(A) 2006 (B) 2005
(C) 2007 (D) 2004

Sarpdaman is the ancient name of which
city ?

(A) Sohana

(B) Safidon

(C) Sirsa

(D) Sonipat

CH CHO

L]

This reaction is called

(A) Etard's reaction

(B) Jone's oxidation

(C) Darkin reaction

(D) Chichibabin reaction

In which year State Reorganisation
Commission was established by the
Government of India ?

(A) 1952
(B) 1947
(€) 1954 ‘
D) 1962

Nitin ranks eighteenth in a class of

Iastsfrudems' What is his rank from the

4) 19 B) 18

©€) 31 D) 32

-3-

10.

11.

12.

13.

5/2019 (1) (M1)
fimefia |1 37vmE, IMBEX 2018-19
R d AP dnsdagE Rt ?
(A) WG 3R HIEHTER
(B) W 3R ATereIad
(C) WRE 3R =R

(D) 3w # &
e e e R ad
af ?

(A) 2006 (B) 2005
(C) 2007 (D) 2004
gider, fFg TR T A R
(A) HiEF
(B) whE
() Taan
(D) dHTa

CH, CHO

I AR R R FRI A S 7
(A) 3z Afufsran

(B) W=\ 3Tereftertar

(C) eifeha arfirfsran

(D) Tafesferm stfyferan

WA TR Y o g gte S #
IO I ot ¢

(A) 1952

(B) 1947

(C) 1954

(D) 1962

ﬁﬁuwﬁ‘fﬁﬁmﬁwﬁmm'
ﬁﬁammﬂm?
A 19 B 5
© 3 (D) 32
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14.  The equation of the line parallel to x-axis
and passing through the origin is

(A) (B) x=y=Z

(D) none of these

15. Minimize the expression :
F(a,b)=ab+ab'+ a'b.
(A) a+b (B) a'+b’
(C) a'+b (D) a+b

16. The sum of all numbers between 100 and
1000 which is divisible by 13, is

(A) 37746 (B) 37674
(C) 37647 (D) 37764
17. The Gram Nyayalaya established under
Gram Nyayalaya Act in
(A) 2006 (B) 2005
r (C) 2007 (D) 2008

Thedistrict Rewariis situated in the Southern

part of Haryana, how many kilometers it
away from the National Capital ?
(A) 40km (B) 20km
(C) 80km (D) 60 km

18.

19. Which leader of Constituent Assembly
considered the Constitutional Remedies
Right as the “Heart and Soul of the Indian
Constitution’’ ?

(A) Jawahar La] Nehru
(B) Dr.B.R. Ambedkar

(C) Dr. Rajendra Prasad
(D) None of these

20. 1
;2 1(5:3 ye.ars older to B and 3 years younger
| wh‘lle B and D are twins. How many
years C is older toD? |
(A) 3

© ¢ B2

(D) 12

s

14.

15.

16.

17.

18.

19.

20,

(A) 2006

x-\‘HQ'l 7 TITIERININ TR AN N ATETION -\5-"\11 q!

100 37t 1000 3 <fF=1 % Tt TEH
St 13 AR
(A) 37746
(C) 37647

T =T T % q8d T A

forg o & werfye foma T 7
(B) 2005
(D) 2008

(B) 37674
(D) 37764

(C) 2007

T Teue & feae e g
i % sl e § e e et
(A) 40fwreficr (B) 20 fremia
(C) sofwadiex (D) 60 e

Hfaum @ & feg Yo Y ddafiE @
& ARl A ety G # Ed
Hew qETR 7

(A) SO @ AE.

(B) SI. i, IR, It

(C) Ei. INiE TR

(D) T & =rs 7

ABR3ITm a2 stk cd 39@
?, % B 3k D ygat €, pac A
Rt ot & 7

A) 3
© 6

(B) 2
(D) 12
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31, Complete the analogy :
Bird : Fish : : Aeroplane:?
(A) Ship (B) Submarine
(C) Boat (D) Crocodile

92.  Which of the following is the project name
for the India’s first manned mission to
space by December 2021 ?

(A) Gaganyaan Project
(B) Mangalayaan Project
(C) Chandrayaan Project
(D) None of the above

23. Gandhi Peace Prize — 2018 was

awarded to

(A) Vivekananda Kendra, Kanyakumari
for rural development, education and
development of natural resources
Akshaya Patra Foundation for
providing mid-day meals for
children across India
Japan’s Yohei Sasakawa for_his'
contribution in Leprosy eradication

(D) None of the above

(B)
©

. A typical voice signal has a bandwidth of
- (A) 3GHz (B) 4KHz
(C) 3KHz (D) 4GHz

o

25. Complete the analogy :
Play : Director : : Newspaper : ?
(A) Editor (B) Owner
(C) Manager (D) Columnist

26, The Pratapgarh Farms are located in
L (A) Kurpul (B) Hisar
l (C) Jhajjar (D) Fatehabad

27, The planes 2x -y + 4z = 5 and
Sx=2.5y+10z =6 are

(A) Parallel to each other

(B) Perpendicular to each other
(C) Intersect y-axis

(D) Pass through (0' 0, %)

21,

22.

23.

23,

26.

27,

5/2019 (1) (M1)
e U A

gt ; WOl ; ; EETE w7

(B)
(D) WTRA=®

Srefofag § @ #9 @ frgew 2021 T
ﬁa&aﬁm%qﬁémﬁwqﬁﬂm

(A) SES
(C)

T T T ¢ % =
m,mm’mwﬁm!wﬁ%
e * fag
mwmw@ﬂ?ﬁmmﬁ
o 3 fou TR SisH ey

F & fag
F3 # 37 AeE & Y

ST % AeS GEeRTEl F
(D) e & & g T

FIERH ER ha R ey
Bt R |

(A) 3GHz
(C) 3KHz

m‘ﬁfﬁm
m:_ﬂ%m::am-qﬂ:?
(A) T (B) wifere
(C) ¥&v= (D) WY oTH
sraTaTg S ! fRE R 1

(A) ST (B) fiwm
(C) W (D)

AT 2x -y + 42 = § AR
5x-2.5y+10z=6 frmmed ?
(A) TR & T 8

(B) T W ¥ wwaa f

(C) y-38 T WRrdR FQ §

© (0.0,%) ¥

(€)

(B) 4 KHz
(D) 4 GHz
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28. Complete the series :
2,4, 16, 128, 7
(A) 2045
(C) 2046

(B) 2041
(D) 2048

L]

29. If day after tomorrow is Saturday, what
day was three days before yesterday ?
(A) Monday (B) Sunday
(C) Thursday (D) Saturday

30. The elastic potential energy stored in &
spring of force constant k is

& bk ®) &mv’

(C) %kxz (D) -%mv

31. Which was the first State of India used
Electronic Voting Machine (EVM) for
voting Panchayat elections ?

(A) Himachal Pradesh

(B) Rajasthan
(C) Gujarat
(D) Haryana

£y €,

32. If ‘< means ‘-, +,
‘="means ‘X’ and ‘$’ means ‘+’, then what
would be the value of 27> 81 $9 <6 ?

‘>’  means

(A) 33 (B) 6
(C) 36 (D) 30
33. ici
ghcgtedl-fiz:’ryana Municipal Corporation is
((g)) ;\_rnbala (B) Bhiwani
irsa (D) Panipat
34, i
(ihelgu 'Tank 1s the tourist place located in
(C) Hls?r (B) Kaithal
) Panipat (D) Bhiwani

35.  Subhash Chandra Bose Park is located at

(A) Patwari (B) Hisar
(C) Panipat (D) Ambala

B

A IO

28, s o eI
2,4, 16,128,? e
A) 2045 (B)
((c; 2046 (D) 2048

29, uﬁ(aﬁm)m%mmﬁwﬁwt?ﬁ
(ﬁ@)m%ﬁ#éiﬂqﬁwﬁwm?
(A) HER (B)
(C) &R (D)

30. @hﬁmm@mmwﬁ,w
o Praad k8 7
(A) Fkx ®) 4mv?
© Fkx’ D) Fmv

31. WA %198 759 BE-T1 o1 FE 9 gL
TEl § g aten 7eid (EVM)
qEeht S e R T ot ?

(A) Teurae wewm
(B) TSIEAM
(C) TSI
(D) sf@mm

32. MW ‘< H AqAS -, *>’ FT HIAH ‘+
1 i ’
=" A ' 3R ‘$’ F Ae R, @
27>81$9<6H AR ?

(A) 33 (B) 6
C) 36 (D) 30
33, Eﬁmvn'm%rﬁﬁmaﬁﬁm%?
(A) SHaTe (B) foart
. (© fawn (D) I
34, e &, T Wi e FEl W R R 7
A) feaw B) ¥ !!
(C) uHma (D) Toramt h
35, gTY % S99k el e § 7 }
(A) veErd (B) TEr
(C) uraa (D) 3FaTe
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36, The angle between the planes
2X+y+3z-2=0andx -2y +5=0is

& 3 ®) 0

o =(l) o =i

37. Aero India - 2019, the 12" edition of
International Aerospace and Defence
Exhibition held in which of the following
city ?

(A) Bengaluru

(B) Mysuru

(C) Chennai

(D) None of the above

38, In which switching technique, a degiicatqd
and complete physical connection is
established between two nodes ?

(A) Circuit Switching
(B) Packet Switching
(C) Message Switching
(D) Data Switching

| Dieckman condensation reaction s
governedby _____ mechanism.

(A) Carbene (B) Carbanion
(C) Carbocation (D) Free radical

4. Complete the series. '

7,26, 63, 124, 215, 342, ?
(A) 5l (B) 481
©) 391 (D) 421

41 In which year Haryana Tourism
Corporation Ltd. was established ?
(A) 1976 (B) 1968
(C) 1996 (D) 1966

42 The lowest unit of Panchayati Raj in
Haryana is

(A)  Gram Panchayat
(B) Taluk Panchayat
(C) Block Panchayat
(D)  Zila Panchayat

36.

37.

38.

39.

40.

41.

42.

5/2019 (1) (M1)
A 2x +y +32-2=03Rx -2y +5=0
FAEFPUFR?
n

A 7 ®) 0

(C) cos’ (%} (D) cos"(%)

3 - 2019, srasa wEE 3
grﬂmﬁmlzaiw' et & &
g e & e R T ?

(A) STTEL®
®) &g

) =§
(D) Iagea it & g 7E
o M aris H, A AT F AN

aufta sf ol vitfoes e wefa e

TR ?

(A) vl feafem

(B) e feafam

(C) wew feafem

(D) e fafam

TEHA TEAA AR B EAE

FRRECIECRIG IR

(A) &R (B) wHefEd

(C) Feihe@d (D) T ITH

s i hifrg |

7,26, 63, 124, 215, 342, ?

(A) 511 (B) 481

(C) 391 (D) 421

gaaéﬁmwnwﬁaﬁm%ﬁ%s'ﬂm

7

(A) 1976 (B) 1968

(C) 1996 (D) 1966

ghaon # q:mﬁ TS # Frea
|

(A) T =TT

(B) TR A

(C) AT T=Ed

(D) forem q=mEd
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43, ?ulltzer Prize is an award for achievements
In Which of the following field ?
(A)  Scientific achievements in the Europe

and USA

Newspaper, magazine and online

journalism, literature and musical

composition in the United States

Sports achievements in the Asia and

Europe

(D) None of the above

(B)

(©)

44. Serial port transfers data serially
at a time,
(A) 8
(B) 2
) 16
(D) 1

bit

45. The velocity of a particle moving along the
Xx-axis varies according to the expression

Vi, = 40 - 5t*, where v 1S in meter per
second and t is in seconds. The average
acceleration in the time interval t = 0 to

t=2sis
(A) =20 ms-? (B) -10ms-?
(C) 40 ms-2 (D) -40ms-?

46, The value of dif A =
A+ A'=1is

#) % ®) %
© % © %

47. Pandit Neki Ram Sharma concentrated his
Nationalist activities in which region of

coso.  -sina
, and
Sine.  cosa

46,

Haryana ? |
(A) Hisar (B) Karnal
(C) Rewari (D) Rohtak

Py

4s.

LT

43, ﬁmwmwﬁl

Iyaferrdl % fore T qpm § 7

(A) T R T F AT o

(B) Wy TS STHRHT § THHR-
qfehT AT JTHATSH THRIET,
iR gftd T

(C) ufrm 3R g9 § W IyeAfey

(D) I9ded & & I3 T

Hifarer aié 3Tehe ot Th T W
fore m @ AR AT @ |

(A) 8

(B) 2

©) 16

(D) 1

x—m’f%mﬂﬁﬂn@ﬁmwéwa:rm
V. =40 - 5¢ % Irgar = g g,
Uﬁawﬁﬁéﬁﬁ%ﬁ'{t@éﬁﬁ%;
S t= 0 t = 25 75 e waoy EUIE
(A). -20ms2  (B) —1Qme2
(C) 40 ms-? (D) =40 ms-?

qﬁA=[°°s°‘ -sina] Fdcsikrai

sina.  cosa

NaFad
B %

Ay %
©) % (D) %

47, i Y <t 3 ayoet gt MR

! gion % fire & F S fia 7
A) fmm (B) ¥
Ec)) el (D) TR
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48. Yog Samrat B
which district 9

(A) Rewari

(B) Bhiwani

©) Mahendragarh
(D)  Gurgaon

aba Ramdey was born in

49. 1If the following five words are arranged in

alphabetical order, which word will come
in the middle ?

Draw, Read, Play, Back, Want

(A) Read (B) Draw

(C) Play (D) Back

50. NASA-recently planned to launchunmanned

nuclear- powered drone, Dragonfly. What is
the aim of this project ?

(A) Aims to search the alien life on
Jupiter

(B) Aims to search for signs of
microbial life on Saturn’s moon,
Titan

(C) Aims to carry the Astronaut’s to the
Mars

(D) None of the above

51. If + means X, X means +, + means -,
—means X, then 50-10x20+5+2is

(A) 520 (B) 490
(C) 500 (D) None of these

52. Find the missing number.

3 6 2
] 00 L
2 3 9
(A) 16 (B) 15
© 17 (D) 18
53. The town which was founded by Firoz
Shah Tughlaq is
(A) Fatehabad  (B) Gurugram

(C) Hisar (D) Agroha

53, ﬁaﬂmmmmmﬂn

5/2019 (1) (M1) i

48. N THTE AT T v v R & )

g ?

(A) @&

(B) T

(C) #&=]g

(D) T
49. Hﬁﬁm%f@amm&?ta?ravﬁﬁqﬁm@a

e, ATy A sRmm ?

Draw, Read, Play, Back, Want
(A) Read (B) Draw
(C) Play (D) Back

50. =TET + T € H wee W& sy gatee
2H, ST YART FE R AT R |
T4 URESAT I TR ¢
(A) Teeafy W ufie sheam H @S
(B) % vz, T WgERat

Sfa= % Fehdl sl @ISt AT :

(C) iafer FrfEt e 9% @ S
(D) I9ga # & Frg T

51, TR + &1 31 x, x 0 AS 4, + F 3d
~H A x B, WS0-10%x20+5+2%

g a0 B) 490
(C) 500 (D) Fﬁ%'ﬂﬁiqﬁ
52 Wmmﬁ| AT
. 6 .
ikl uotBip <L [ 27
A) 48 (B)us1Sne¥ - ()
(C) 17 (D) '1‘%It-f‘*'n'mﬂl e

(A) tﬁhrm
(C) m

(B)
{Ch {D) £
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M, What was the reason for defeat of Haryana | 54, 1857 1 sife % g™
warriors during 1857 uprising ?

o Fn o
(A) Non availability of leadership a) g e -
(B) Paucity of arms @) T ﬁa:i
(C) No co-operation from other © ererdt T e A e
dominions it o
D
(D) Allthe above (D) N %;a;lﬂ
Biuret test consists in treating the alkaline 55. ;@mz P—— Rt STl
58, <olution of proteins with ______ solution. R =TS (B) R
A) Sodium azide (B) Pyridine ©) CusO, (D) |iEan "2‘ % :
(A) (D) Sodium nitrate p i H] '
© S8 25 u&A’[z 4]‘3'"' 7 4] |38
2% B=5 2.C= ] o 3 mﬂCD—AB:O%?
56. fA=\4 4 7 4 30_Ss <) a1rege D T &, & i
(hen matrix D such thet €D~ ki T e -1 10] (B) [-77 44]
191 -110 (B) 191 jg] 77 44
A Y ] 17
77 44 -

19 11
- o1 107  (p) [ ]
© [91 10] D) 19 11] (©) [7 4] 17 14

7 4 17 14

The set of all integers under the operation | 57,

kil Eﬂﬁmﬁ%,
' defined by a *b=a +b + 1 is a group, *%aaamﬂuglﬂ'aﬁ gl

then 3~ is . ?‘h 3-1 |0 ??F"
(Ajn 45 (B) 5 (A) -5 B) 5
©) 4 (D) -3 € 4 2 (D) -3 -
‘Western Yamuna Canal is derived from [ 58, ufgerdt AT T g wH - precll T T
" yamuna River at which place ? ' Freret -q—g 27 Rl
(A) Kamnal (B) Bhakra-Nangal (A) FEATA (B) W@SI-
(C) Tajewala (D) Salhawas (©) qeETat (D) HeEETE
The Haryana State Police Headquarters is | 59, mmmmwﬁﬁﬁa R
" located in (A) FAE (B) el
(A) Karnal (B) Ambala ! © e D)
(C) Panchkulla (D) Rohtak
60. Inwhich of the following year, the Imperial |  60. ﬁﬁﬁ'{f@ﬁﬁﬂﬁﬂa&ﬁw ;’:IW
Forest Research Institute was set up at mﬁﬂ%ﬂﬁjﬁwﬁﬂ
ot A (A) 1895 (B) 1885
(A) 1895 (B) 1885 05 1908 (D) 1926
(C) 1906 (D) 1926
K .10-
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i Which novel of Charles Dickens
gives information on the impact of
industrialisation on poor ?
(A) Hard Times (B) Oliver Twist
(C) Pickwic Papers (D) Germinal

62. A single floppy-disk controller board

supports a ribbon cable.
(A) 2l-wire (B) 33-wire
(C) 30-wire (D) 13-wire

63. VARCHAR?2 can store up -to
bytes of characters.

(A) 4000
(C). 6000

(B) 5000
(D) 8000

64. How many members are sent to Rajya
" Sabha from Haryana ?
A) 7 B) 5
L(C) 2 (D) 4

he High Court at Lahore was established
n the year

(A) 1916 (B)
©) 1919

1915
(D) 1918

» State of democracy in the world in 2018 is
released by

(A) Economist Intelligence Unit
(B) Amnesty International
(C) UNICEF

(D) None of the above

—

67,

Which Article of the Indian Constitution

provides an independent Election
Commission 2

(2) An-icle 370 (B) Article 356
(C)  Article 324 (D) Article 320

61,

62.

63.

65.

66.

67.

J/&Ul1l7 (1) (

T & W B @ s e
Srenfirehierr & wore i S 3 ¢
(A) TEemm  (B) SfRmRR
) frefwiwd (D) Wi
T wd- e P e
& F) FEEa1 a1 ¢

(A) 211 (B) 33-aR
(C) 30-aR (D) 13-AR

VARCHAR2 e TF &
| F T & |
(A) 4000

(C) 6000

(B) 5000
(D) 8000

it & TeTgy H forde Tew St 9T 1
(A) 7
(C)iil 2

AR A Iv9 UM 9y
TTiYe fopam |
(A) 1916
(C) 1919

B) 5
(D) 4

1915
1918

2018 % fava o e i Ry fea
T SR Y 7 ?

(A) STt R 3T

(B) TR ST

(C) IHE®

(D) Sugs # & = e

WA |GG &1 % 97 w08 T
A N oW FaT 8 7

(A) FTWT370 (B) TR 356
(C) 3324 (D) IHTeR 320

(B)
(D)
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3. Find the missing number.

68. T wEA T A
3~ [/
B) 1l
A) 12 ®) 11 @A) 12 ED; "
© 22 (D) 33 © 22 e s
U@ feha &R, R
! there in the | 69. ¥ BACKLAS |
o2 E:1!\:((})\:{(1 nﬁa:élgtﬂ\s}ftfgghag wﬁrich is as o yIF 954 33'5311‘6 g Il | q %9 o
far away from the beginning of the wqrg £ SR ‘aﬂhﬂﬁ'ﬂﬁm ag?
as it is from the beginning in the Englis ﬁé &
Alphabet ? (A) T&H (B)
! (A) One (B) None ©) ) (D) e
(C) Two (D) Three i
70. Bhindawas Wildlife Sanctuary is situated 70. fireEm =g I Erod e
in which district ? - fermg?
(A) Rewari (B) Faridabad (A) }31@ (B) T AC A
(C) Gurgaon (D) Jhajjar (C) T (D) =K
Choose the word which is least like other [ 71, 9% ¥sa JfT s W o 3 Y "
words in the group. %1 fierar ® |
(A) Cub (B) Calf (A) TRMEF  (B) DS
(C) Piglet (D) Hireling (C) (D) WL
172, If A is square matrix, then which of the 72. IR AT IR R, A FfRaa A e =
following is not true ? e 7 ,
(A) A- A'isskew symmetric (A) A- A’ o amfia R
(B) A+ A'issymmetric (B) A+ A THfE
(C) AA'issymmetric (C) AA gufie R
(D) A?is symmetric (D) A'wufiad
73, Number of districts in Haryana State is 73, wimn T # Rt A we Rt § 7
(A) 23 (B) 22 (A) 23 (B) 22
€ 24 (D) 25 « (C) 24 (D) 25
7. A coil hes an inductance of 53 mHand a [ 74, T Foweh # 53 mH % ﬁm R 0.35¢
tesistance of 0.35Q. If a 12V emf is applied widw & | 7R 12V - w= (¢
: ucross the coil, how much energy is stored % FOgE! & T T e g & 1
in the magnetic fleld after the current has 1 e A o % TR g g f
built up to its equilibrium value ? s vEra e g 7 b
A) 31]
S @A 3 (B) 551 © 21 (D) 1007
-, (© 23] (D) 100J )
K 12
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‘0 sim esent
Change the followiné sentence in SIMPI Pr
“hange

A (B) They have P&y
(C) They played cricket |
) They have been playing cricket

part of the following sentences which

7. Our happiness or our SOITOW is largely due
to our own actions.

(A) is largely

(B) Our happiness or our sOrrow

(C) due to our own actions

(D) no error

Use appropriate linker to fill in the blank :

78. He has neither attended the meeting
has he sent 5 message.

AA) but
. (B) or
(C) nor
(D) yet

e |

Fill in the blanks with appropriate phrase :
79, The robbers the defenceless

travellers.

(A) make out
(B) setout
(C) setupon
(D) set off

Fill in the blank with appropriate word from .

the options :

80. Ihave lostone of my glo
dropped it somewhere-

ves. | ——

(A) could

(B) must

(C) must have
(D) would

81. You have been traveling all day. You

be very tired.
(A) must
(B) can
(C) must have

(D) could

Choose the correct word to fill in the blank :.

82, We must not violate the ___of

law.

(A) Cannons
(B) Canons
(C) Caneons
(D) Cenons

L 4
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19 (1) (M1)
&=t v
. W A Tg FW e m | 59 A §
s g 2
(A) dra
(B) ==
(C) 3
(D) <MW
84. Trafafas # @ =9 @1 e e @i A
TR
(A) JER
(B) Wefld
(C) WH
(D) WA

85. @Wﬁﬁﬁt{
¥) qEEE ®) AL H A e
) S e @) e YR R
3) whmee 7) Aved g
H e 3
A) @ &
B) & @
€ @ |
D) 7 E

86. T & T ‘T Halga AR T
A) @
(B) fiey
© &
(D) W

o o o4 A

87.

88.

@

89.

90.

LI MIlIIIIII!IlIIIIIIIIIIIII{
TR + 359 = SR’ TE Fﬁiti
&) |
@) & |
() df&

(D) I

Sreaw fofay :

31) ATAHE THE  F) HAHET

3) e FH Q) frwar

3) RO ) Fnfafy

3) aglife auE q) -

A oaw ooy
A 1T @ & ¥
B) T % @ H
© T ¥ & W

T % 9 @

‘Iite’ 7@ wree # v fe Sue @
(A) K |

(B) 9

©) ¥

(D) I
‘m’mﬁﬂﬁaﬁﬁﬁm%-
(A) SSTE

B) 9

(C) I{W

(D) S§H
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